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Q1

The shaft shown below has an inner and
outer diameters of 4in and 6in
respectively. The maximum allowable
shear stress is 12 ksi. Find the maximum
torque that can be transmitted by the
shaft without failing

VZW = {Z kf)'

A"L = Z,)M—J éL' = o o
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Q2

Shaft AB & and CD are solid of diameter d while shaft
Bg is a hollow of inner and outer diameters of 90 mm
and 120 mm. The shaft assembly is subjected to

torques as shown. Compute \ |0\|

(1) Plot the Torque as a function of shaft length ~ \\ /‘ . 1/“ “'/l;* :

(2) Mz’a&r_rlum and mip_im_lim shea_rir_lg_stress in Shjaftic . VY > / / -

(3) The diameter d.if the allowable shearing stresses in P 4 /

shafts AB and CD are 65 MPa BEUGE / [/
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J= 139 ({o-é)""‘ ¥

Tac= 862 Ml
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Table

@ 1.00 1.50 1.75 2.00 2.50 3.00 4.00 6.00 8.00 10 00
-P o 0.208 0.231 0.239 0.246 0.258 0.267 0.282 0.299 0.307 0.313 0.333
@ / 0.141 0.196 0.214 0.228 0.249 0.263 0.281 0.299 0.307 0.313 0.333
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